IE/NER] ZRiFEES623

FE31FE4A1B(A) HIE

[k IF ] xzEAL

I o N\E

,—
[ IR 1T
IZE — )\E
AEZA—SFIL 6:10 13:25
mAARE 6:15 13:30
B o# H 6:19 13:34
g g BT 71')— i 6:22 13:37
=8 B HT 6:23 13:38
B L 6:28 13:43
L = & [ Al 6:31 13:46
7K b 6:35 13:50
Z B 6:42 13:57
*x P 6:50 14:05
= i 7:02 14:17
pi=| JI 7:11 14:26
HE ol 7:24 14:39
i ) 7:29 14:44
J\ & BR i 8:17 15:32
8:19 15:34
8:20 15:35
3 s < = EO»512:40
SITIES-ITINTODES: KERm12:30
KIECOES OB EREEN 513:45
RERTOER KFE»s7:00 | Kpkins14:32
=ER s | R-n-338 [ 2-n-dkH155
NERTORNDER| "o oiiie | “16:0a50085
INE - 1%
INERE R 9:46 17:30
NEREKKRAOD 9:47 17:31
J\ E BRI 9:52 17:36
i Jil 10:36 18:20
AE el 10:45 18:29
pi=| JI 10:56 18:40
-+ pis 11:04 18:48
X pisd 11:13 18:57
Z B 11:20 19:04
7K i 11:27 19:11
I = 7/ B ai 11:32 19:16
== 1L 11:36 19:20
=8 B HT 11:42 19:26
It BT 71')— R 11:43 19:27
00 H 11:46 19:30
MR M 11:51 19:35
IEAR—SFIL 11:56 19:40
EEATOERS 18:37KF~
IERRECTOER | 11:42EE~
NEERTO A-n—dtHas | A-n-dkH165
JRMD DIEHT FLE»29:32 FLiE»17:22

IEA—IFIL 6:10 13:25
AR 6:15 13:30
o o# HT 6:19 13:34
I R ET 7 1Y) — i 6:22 13:37
o 3 HT 6:23 13:38
B il 6:28 13:43
I #= & BR Al 6:31 13:46
7K i 6:35 13:50
Z &R 6:42 13:57
x = 6:50 14:05
s = 7:02 14:17
A I 7:11 14:26
513 a 7:24 14:39
fif J 7:29 14:44
J\ & B &l 8:17 15:32
NERLERREAD 8:19 15:34
NERERIE 8:20 15:35
q - + ROmn512:
STEI-FLTOHER e
JKIE TO R OB EREEH >13:45
BER TR KEins7:00 | KAEins14:32
EER-= | A-n-3t3d3%5 | 2-n—Jti15%5
NERTORN O 8:45$Li:% 1 6:0156_[':'1'%??
INE - TIE
INERERRE 9:46 17:30
NEBERREAD 9:47 17:31
N E BRI 9:52 17:36
fif n 10:36 18:20
RE a 10:42 18:26
H= ] 10:53 18:37
s s 11:01 18:45
x i 11:13 18:57
Z EB 11:20 19:04
K bir 11:27 19:11
L= & IR Al 11:32 19:16
== 1 11:36 19:20
o 3 HT 11:42 19:26
b # BT 7 1) — Bl 11:43 19:27
oo H 11:46 19:30
BN E A 11:51 19:35
IEA—ZFI)L 11:56 19:40
RRETOER 18:37KH~
IERETOHES | 11:42FE~
J\EERTD A-n-tH48 | 2-n-dt}16%
JRHD D HEHE AME~59:32 | #LRAS17:22

O B#LEK



